
Complete the sentences. 

The pattern has 1 

_____________________

Addition

Subtraction

100 – 5 =__

100 – 15 =__

100 – 25 =__

100 – 35 =__

100 – 45 =__

100 – 55 =__

100 – 65 =__

100 – 75 =__

100 – 85 =__

100 – 95 =__

Year 2 homework 30.11.23
Return by 07.11.23

Name: _____________________

Numbots

Can you complete a robot in 
Numbots to gain a 
certificate next week?

Partition this number in 3 
different ways

30

Partition this number in 3 
different ways

22

22 22 30 30

8+ 13 = __

77 + 4 = __

33 + 8 = __

4 + 37 = __

56 + 5 = __

65 + 6 = __

19 + 2 = __

89 + 2 = __

90 + 8 = __

11 + 40 = __

16 + __ = 30

21 + __ = 30

32 + __ = 40

43 + __ = 50

59 + __ = 60

64 + __ = 70

78 + __ = 80

82 + __ = 90

95 + __ = 96

11 + __ = 20
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